




Q36.1

If I change the slide from 600 lines/mm to 100 
lines/mm, how will the spacing of the bright dots , p g g
change?

A. They will get a little closer.

B. They will get a little farther apart

C. They will get a lot closer

D. They will get a lot farther apart

E. The spacing won’t change











Q36.1

When the glass slab is inserted on the left, how 
will the point where there is constructive p
interference of the two pulses change?

A. It will move to the right.

B. It will move to the left.

C. It will stay halfway between the two sources.

D. We would need more information (including n and 
thickness of the glass slab) to decide.






